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IMPORTANT INSTRUCTIONS TO THE CANDIDATES
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10.

Please check all the pages of the Question Booklet
carefully. In case of any defect, please ask the invigilator
forreplacement of the Booklet. In case of any discrepancy
between English and Marathi versions of any question,
the English version will be treated as final.

You must complete all the details of OMR Sheet and
Question Booklet, before you actually start answering
the questions. Failing these, your OMR Sheet will not be
evaluated.

Question booklet contains 50 questions divided into
four sections. Candidates are advised to attempt each
section.

You are expected to answer 50 questions of this booklet.
Each question carries equal weight. Each correct answer
will be awarded one mark. There will be no negative
marking. Zero mark will be awarded for choosing more
than one option.

The manner in which the questions are to be answered
has been explained at the back of this Booklet, which you
should read carefully before actually answering the
question.

No Rough Work is to be done on the OMR Sheet. Space
for the rough work has been provided in this booklet.

Do not try to make any correction by using correction
fluid or blade on the OMR sheet. Doing this, your OMR
sheet MAY NOT be evaluated.

You must not tear off or remove any sheet from this
Booklet. OMR Sheet must be handed over to the
invigilator before you leave the Examination Hall. In case
of non-compliance, your candidature can be cancelled at
any stage.

Possession of Calculator/ Palmtop/ Laptop/ Other
Electronic Instruments viz. Mobile, Cell Phone, Bluetooth
devices, Head Phone etc., is strictly prohibited inside the
examination premises. Carrying these items even in
switch-off mode will be treated as use of unfair means.

Candidates found guilty of misconduct/using unfair
means in the Examination Room will be liable for
appropriate legal/penal action and cancellation of their
candidature.
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T — A : JU3T

Section — A : Marathi

FEER @ref! feerean faeheurqa 9 vt fraer.
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(A) gsiEl B) fepamm
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20.
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23.

24,
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T — B : SIS

Section — B : English
Water at 100 degree Celsius.
(A) will boil (B) boiled (C) Doils (D) has boiled

he plays well, he does not win matches.

(A) Still (B) Although (C) Though (D) But
I am fond of stories.
(A) wasreading (B) read (C) reading (D) will be reading

The antonym of depreciate is .
(A) blunt (B) belittle (C) lessen (D) appreciate

The synonym of hazard is .

(A) headlong (B) funny (C) peril (D) secure
A man who is is sure to succeed.

(A) industrialize (B) lazy (C) industrious (D) industry
He is very serious so there is hope of his recovery.

(A) afew (B) alittle (C) little (D) few
Ronak had taken his watch his pocket.

(A) in (B) of (C) outside (D) outof
Don’t stop good books because they are our best friends.

(A) arereading (B) read (C) reads (D) reading

is being told romantic story now ?
(A) Whom (B) What (C) Whose (D) Who

She writes very .
(A) Dbeauty (B) beautiful (C) beautifully (D) beautify

He is M.L.A. from Jamjodhpur.
(A) Notall these (B) the (C) an (D) a
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27.

28.

29.

30.

31.

32.

"I - C : 9H A
T ATt gt Fgeh o

(A)  fa=rsht amem et T,
(B) ifeh wferaifera a1z,

(C) e yfdefea 3R,
(D) @ TR e qrE =Terq .

T STAIAT] IATET TTeAShT ShIvTd TEAUSS (ShTTETS ) ST arad ?

(A) TWASE (B) 3TER HTS

(C) WHE (D) & WM

THTR B ShIvTeaT ha3THT! Ufrg 318 2

(A) HHTHE (B) & (C) et (D) 3isT
HEWTY AT 3¢9 (31feded) shivren ot 2

(A) 1T, 1960 (B) 1#,1960  (C) 14,1951 (D) 1, 1960

HIART TSAT STS0TT ST @l Slret].

(A) 1718 (B) 1918 (C) 1818 (D) 1819

TETITAT TaHTTEaR A Hel SHTEST shotedl %] 3TTad.

(A) W geed (B) Hrugd (foersht are)
(C) =R =Tehl aTEA (D) T ARHA

Hegd ufgel TsIdTe 2.

(A) *Rd e (B) it 3TieRiet

(C) *vd wrh| (D) f. aehet fforea
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27.
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29.

30.

31.

32.

Section — C : General Knowledge

On a road designated as one way
(A) two wheelers not allowed.
(B) parking is prohibited.

(C) overtaking is prohibited.

(D) should not drive in reverse gear.

Which of the following documents a driver should possess while driving a vehicle ?
(A) Ration card (B) Aadhar card
(C) PAN card (D) Driving license

Ratnagiri is famous for production of which fruit ?

(A) Apple (B) Grapes (C) Banana (D) Mango

Maharashtra came into existence on
(A) 1% April, 1960 (B) 1% May, 1960

(C) 1% May, 1951 (D) 1% June, 1960

Satara Declaration was made in

(A) 1718 (B) 1918 (C) 1818 (D) 1819

License Category A includes

Question
(A) Heavy Tractors (B) Mopeds s deleted.
(C) Four wheelers (D) Motor cycles
The first Governor of Mumbai was
(A) Mr. Kalamkar (B) George Oxenden
(C) Mr. Starx (D) Dr. Michael Philips

MTCDCC 7



33.

34.

3S.

36.

37.

38.

2011 =T UM STAR TGP AhEET git.

(A) 115U (B) 9% (©)

10 U (D) 15

T2 9 3ATh STSAT & TR HUIT=A Tt Brered sieret 3772 2

(A) FUEg &9

(B) A0

(C) STt

(D) Tefistt

Herg TSI I AT =R v g 2
(A) ITTUS (B)
(C) &I Tifeig TS (D)
TRATHE T8 TReRTRT=a A=E-a = J1=Id1
(A) 18TfE (B) 1ad (©)
TS HSUT TEeTT SI-H BT T STl

(A) T (B) fren (C)
7 T 312 r 2

(A) Ig YA (B)
(C) e (ami) = (D)
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33.

34.

3s.

36.

37.

38.

The population of Maharashtra, according to Census 2011, was

(A) 11 crore (B) 9 crore (C) 10 crore (D) 15 crore

Gateway of India was built to Commemorate
(A) Subhash Chandra Bose

(B) Queen Mary

(C) Dalhousie

(D) Gandhiji

Who of the following was a judge of the Bombay High Court ?
(A) Abhay Pethe

(B) Mr. A.N. Kalamkar

(C) Mahadev Govind Ranade

(D) Neeraj Hatekar

Validity of learner’s license in India is

(A) 18 months (B) 1 year (C) 15 months (D) 6 months

Gopal Krishna Gokhale was born in

(A) Nagpur (B) Nasik (C) Mumbai (D) Ratnagiri

What does this sign mean ?

(A) Narrow Bridge (B) Stop (C) Give Way (D) No Parking
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39.

40.

41.

42,

43.

44.

45.

46.

47.

48.

49.

50.

T — D : SR
A = 9T (TTR) B =T Sa=T=AT 40% T8 hi o C =T a1 25% AR, A AT da-T=a1
(=) ferdt gadh C = S (TTR) 3118 ?
(A) 20% (B) 5% (C) 10% (D) 15%
A 3TTUT B fiesd weht s favTeM 12 fea@ma siara. B 311 C d M 15 fegam siard. ST
A BT C =1 G HRIGIIST 318 R B Thel d M Tohel! feaama ¢ =hie 2

(A) &I U shivre AT, (B) 10 feam
(C) 20 feam (D) 15 feam
%@meﬁaﬂm%ﬁﬂa@a
(A) VAT A& (B) 3 srEeren
(C) T3 ot grafdd (D) T3 TEeren sgTEfda
3 4 8 —12 32 6
() (F) e,

2025 2025 2025 2025
(A) g5 B) 61 © D) "6z
(0.2)% = (0.3) +(0.1)® &I oo 37T,
(A) 0.019 (B) —0.018 (C) 0.018 (D) -0.019
(A) 17 (B) 10 €) 11 (D) 16
3 3 forvmTesT STumT= SRe v 2

(A) 9566003 (B) 4006020 (C) 2345678 (D) 2876423

6 x 3(3 — 1) ST THH TEAT HIv ?

(A) 53 B) 19 (C) 20 (D) 36
323.46 +23.04 — 43.17 — 2 = 303 Hid.

(A) 0.21 (B) 0.33 (C) 133 (D) 1.23
(833.25 — 384.45) + 24 = ¥ IR

(A) 20.1 (B) 1.87 (C) 2.01 (D) 18.7

STHITVTAT U= S GUE 35 318, SR Tcdeh AT +5 3 dIead] ai Je31 Sd= 9Uad)
gl 3.

(A) 90 (B) 30 (C) 40 (D) 70
6 3107 34 = Heftet Td geam=h auad) gt &) 5 1 favmredt o o112,
(A) 30 (B) 18 (C) 20 (D) 24
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Section — D : Arithmetic

39. A’ssalary is 40% of B’s salary which is 25% of C’s salary. What percentage of C’s salary
is A’s salary ?
(A) 20% B) 5% (©) 10% (D) 15%

40. A and B can do a piece of work in 12 days. B and C can do it in 15 days. If A is twice as
good workman as C, find in what time B alone can do it ?
(A) None of these (B) 10 days
(C) 20 days (D) 15 days

17
41. The decimal expansion of ) will be

(A) None of these (B) Terminating
(C) Non-terminating repeating (D) Non-terminating non-repeating
3V 812320,
42. Thevalueof(s) (5) (5) 18
2025 2025 2025 2025

(A) 68 B) 61 © D) “6s
43. The value of (0.2)° — (0.3)*> + (0.1)3 is

(A) 0.019 (B) -0.018 (C©) 0.018 (D) -0.019
44. The sum of the first four prime numbers is

A 17 (B) 10 © 11 (D) 16

45. Which of the following numbers is divisible by 3 ?
(A) 9566003 (B) 4006020 (C) 2345678 (D) 2876423

46. 6 x3(3—1)isequal to
(A) 53 B) 19 (C) 20 (D) 36

47. Solve :323.46+23.04 —43.17 -2 = 303
(A) 021 (B) 0.33 (C) 1.33 (D) 1.23
48. The value of (833.25 — 384.45) + 24 is
(A) 20.1 (B) 1.87 (C) 2.01 (D) 18.7

49. The arithmetic mean of seventy-five numbers is 35. If each number is increased by 5, then
the mean of new numbers is

(A) 90 (B) 30 (C) 40 (D) 70

50. The average of all the numbers between 6 and 34 which are divisible by 5 is
(A) 30 (B) 18 (C) 20 (D) 24

MTCDCC 11 D



I fafzoar=h uga @refie g ag.
MANNER IN WHICHANSWERS ARE TO BE GIVEN

AT : T ST foha 370t faemn §Wi =R dJehfeush
IR TR qut faum feoreft smRd. g gwEndt gt
i Jepfetrsh foha qut faemm 3w ek ferfearn A, B,
C, D & e uefid e aqeten e /fen aiet
qge U e HU. (@)

Tl feciea Serewmesd U= 9gd $hod.
3IqIgYU0T ©

ARAM 1983 H& v Wedld fageny foremett
BT 2

(A) EThl

(B) st
(C) Fe==
(D) e

AT : gl I W (FU) W fhehe IR
3T 4 IW D’ T IS IR, TEUH THTT FHRAT
HicT ‘D’ AT TqesTel hlea /e siet uige U e
Teg 1. I Tgd Wil feeam Jamr S,

a4 -

aq

® 6 0 @

Teh YT Ukl 3T SRIeR 3718, TraTell A1 hictoHefel
Tl AgesTell (A, B, C, D uefiet) shiee /e siiet wigeq
TEg (@) WP 3R, SR Gl Tl el SId ShicH
Tefic a3 Teg (@) efd T GHE I IH (e
A SIS

T IW IR q9El HlSsgdeh (AEgd) forar.
ST T HicT I Iehcliel T Hial TY. HIURTE Teh!
YA BR IS 3 Tl

T Yfrchatean EeA STRIR QU hEe ATEid. e
3. TH. 3R, (TR ufreha) afrehdt STTeR Gon .

Directions : Each question or incomplete
statement is followed by four alternative suggested
answers or completions. In each case, you are
required to select the one that correctly answers
the question or completes the statement and
darken (@) appropriate circle A, B, C or D by
Balck/Blue Ball Point Pen against the question
concerned in the Answer Sheet.

The following example illustrate the manner in which
the questions are required to be answered.

Example :

Question — In which sports India won the World
Cupin 1983 ?

(A)
(B)
©)
(D)

Explanation : In the above example, the correct
answer is ‘Cricket’ and this answer has been
suggested as ‘D’. Accordingly, the answer is to be
indicated by darkening the circle by Black/Blue
Ball Point Pen in circle ‘D’ against question in the
manner indicated below :

® ® 0 @

There is only one correct answer to each question.
You should darken (@) the circle of appropriate
column, viz., A, B, C or D with Black/Blue Ball
Point Pen. If you darken (@) ) more than one circle
against any one question, the answer will be treated
as wrong.

Hockey
Football
Chess
Cricket

Question

Answer the questions as carefully as you can. Some
questions may be difficult and others easy. Do not
spend much time on any question.

You are not required to mark your answer in
this Booklet. All answers must be indicated in
the Answer Sheet (OMR) only.
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